a‘.."lIE
. For clicker question voting, go to: =m.s i
Dr. Starkey, CHM 3140 Organlc Chem. I, Cal POly Pomona nhttps://pollev.com/lauriestarke263 = r.‘ih"rr

LAURIESTARKE263 t0 37607  *pl letia Ty

Chapter 9 Alkyne Reactions — Part 2 — Practice Problems i8] e ey

Predict the products, provide a mechanism and determine direction of equilibrium. AR 10O

1 H-C=C-H + Buli S

carbide lamp: CaC; + HO0 =—>

3| Predict the major product formed after each set of reagents.

1) NHNI'I} NH_; l) NHNI'I} NH_;
- -




" Which reagents would be best to achieve the following synthesis?
/
R — w /\//
HO  H e,
S| propyne > l_<
CHy3

0.57 Each of the following synthetic transformations has a fatal flaw and the 6 Klein 4% ed
desired target molecule would not be produced. Identify the error in each (Klein 4% ed.)
synthesis and explain why the synthesis fails.
S 1) excess NaNH; 1) NaNH,
SR W it Y Q
X 2) excess EtBr % el el . N
a. 3) excess Hy, Pd ™\ 3)Hy, Lindlar's cat. /A
b. 4) RCOzH
0
1) Hy, Lindlar's cat. o 1) HBr
" 2)NaNH, S 2) HC =CNa
c. 3) n-PrBr

d. 3) H20, H280,, HgSO,



